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B HRIIMINE

Question 1 ~3 @— e

A,B,C,D,F, AND G make up the first seven finishers in a swimming meet.
There are no ties. Hence, the individual finsihing first will have

finished six places ahead of the individual finishing seventh.

(A) A finished one place behind D.
(B) D finished two places behind C.
(C) E finished five places behind B.
(D) F finished one place behind E.
(E) F finished three place behind D.

1. Which of the following statements about G must be true?

(A) G:'finished between C and D,

(B) G finished between A and D.

(C) G finished six places behind C.
(D) G finished two places ahead of E.
(E) G finished one place ahead of E.

2. Which of the following statements is/are true?
I. F finished six places behind C.
II. Only B and C finished ahead of D.

III. As many swimmers finished ahead of D as behind D.

(A) I only (B) II only (C) III only
(D) II and III only (E) I and III only

3. If B and D are disqualified, what is the order of the first three

finishers?
(A) C. G, and E (B) G, C, and A (E) E,C. and A
(D) C, G, and A (E) A, G, AND-E
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(Ans) LA 2.0 3.0
(AH) BEHE QWAED Z%E—-RK>DA
BDECZHBE_HK=>C_D
CEEBZHERE>B___E
DFEEZRE—HK>EF
EFEDZHB=K>D__F
# 7 AHER—F
HA , B®C DA
HC) , DE®B D EF
i Lyt — %46t 8 BC DAEF, RIT—@EZEM , RR 3
A7 BEAHKGC HMAHZRK+ , THRE BCGDAEF 2 JEfF
(sol)
1. 5 % 2 EFF [ 41 G %7E CD Zff »
2 [~ ,RF ECZBBERE -
[~6,ZED2 8B KAAB,C, HB,C,G=fA -
I-%, DZ#AE=SMA,MDZ2HEAE=ZMEAKD 2 Z AR
BD ZHH AB—KS
REIRE-
3.B,D BRRK, BELE, QIR B2 ABHF RCGAEF, # ]
=#4BC,G,A o
 [NOTE > 8 3% % & B 2 %one place behind " 27 » B B RH # 1K
#% , WMEFE S AB, AIH B B is one place behind AR L B is
two places behind A, X Bl A B, FAEE—E A HB KL BHH -

doht , ABRTH i ERAE, B EFBR—FIH2®, FEH
mELH , ER T &R R e , BEBEE R FHAE R
HoRTiAR, BEAEALUESR, TEREAHRAFSGS
NEEFTHEE, WA :

6



Questions 4~ 8 @— : —

Exactly seven persons-P,Q,R,S,T,U, and V-participate in and finish all

of a series of swimming races. There are no ties for any position at

the finish of any o the races.

V always finishes somewhere ahead of P.

P always finishes somewhere ahead of Q.

Either R finishes first and T finishes last, or S finishes first
and U or Q finishes last.

4. If in a race V

(A) S finishes
(C) T finishes
(E) U finishes

finishes fifth, which of the following must be true?
first, (B)-R finishes -second.

third. (D) Q finishes fourth.

last.

5. If in a race R finishes first, V can finsih no lower than
(A) second (B) third (C) fourth
(D) fifth (E) sixth

6. If in a race S finishes second, which of the following can be true?
(A) P finishes before R. (B) V finishes before S.
(C) P finishes before V. (D) T finishes before Q.
(D) U finishes before V.

7. If in a race S finishes sixth and Q finishes fifth, which of the
following can be true?
(A) Y finishes first or fourth, (B) R finishes second or third.
(C) P finishes second or fifth. (D) U finishes third or fourth.
(E) T finishes fourth or fifth.

8. If in a race R finishes second and Q finishes fifth, which of the
following must be true?
(A) S finishes third (B) P finishes third,
(C) V finishes fourth. (D) T finishes sixth.
(E) U finishes sixth.

(Ans) 4@ 50 6@® 70D 80D
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Questions 9 ~ 11

(1) There are five people standing on a flight of six steps, with no more
than one person to a step.

(2) R is two steps lower than J.

(3) L is one step lower than M.
(4) J is as far above R as L is below.
(5) P is one step above R.

9. The order of the people from top to bottom is
(A) PRJLM (B) JPRML (C) LMJPR
(D) MPRJL (E) MJRPL

10. Where is the empty step?
(A) It could only be the top step.
(B) It is between P and J.
(C) It is between R and J.
(D) It could be either the top or the bottom step.
(E) It could be anywhere on the flight of steps.

11. Which condition by itself repeats all the information given by one of
the other statements?
A @ () (5) © @
(D) (5) (E) None of the above

o — 7
fE T LENKE , A2 HR T Ess N ERHIINE :

Questions 12 ~ 15

A building has six floors, referred to as floors 1-6, from lowest to highest

Six companies, L,M,N,0,P, and Q, occupy the six floors, not necessarily in

9



that order,with only one company to a floor.

(1) N is the same number of floors from M as M is from L.
(2) P and O are not on a adjacent floors.

(3) Q is on a higher floor than O,

(4) L is on floor 5. ’

12. .Which of the following (are) true?
I. M must be on either floor 3 or floor 4.
II. O must be on either floor 1 or floor 2.
III. Q must be on either floor 4 or floor 5.
(A) I only (B) II only (C) III only
(D) I and III only (E) II and III only

13. Which of the following must be true if N is on floor 1?
(A) L and P are on adjacent floors.
(B) M and P are on adjacent flooors.
(C) 0 is on a floor higher than floor 2.
(D) P is on a floor higher than floor 2.
(E) Q is on a floor higher than floor 3.

14. If O and Q are not on adjacent floors, which of the following is true?
(A) M must be on floor 3. (B) N must be on floor 3.
(C) 0 mist be on floor 2. (D) P must be on floor 6.
(E) Q must be on floor 4,

15. Which of the following is true if N is on floor 37
(A) M must be two floors lower than L
(B) N must be on a floor between L and M.
(C) O must be one floor lower than Q.
(D) Q must be on a higher floor than N.
(E) Q must be two floors higher than P,

(Ans ) 12. (A) 13E® KA 150
(A )EH: 6BALST 618 o

DN RM 2B, RO MBL 2 RESR

M— N
@PHEORHE>P O
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Questions 16 ~ 19

Six historians-K,L,M,N,0. and P-are each to present a paper at a one-day

conference. Three papers will be presented in the morning session before
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16.

17.

18.

19.

the lunch break: the other three will be presented in the afternoon
session, which follows the lunch break. The scheduling of presentations

is subject to the following conditions:

L's presentation must immediately precede M's presentation; their

presentations cannot be separated by the lunch break.
N must be either the first or the last in the order of presenters.

If M is to be fifth in the order of presenters, then L must be
(A) first (B) second (C) third
(D) fourth (E) sixth

L could be scheduled for any of the following places in the order of
presenters EXCEPT

(A) first (B) second (C) third

(D) fourth (E) fifth

If P's presentation must immediately follow N's presentation,M could

be scheduled for which of the following places in the order of

presenters?
(A) First (B) Second (C) Third
(D) Fourth (E) Fifth

If P and O are fifth and sixth, respectively, in the order of presenters,
which of the following must be true?

(A)#K is first in the order of presenters.
(B) K is third in the order of presenters.
(C) K is fourth in the order of presenters.
(D) L is first in the order of presenters.

(E) M is fourth in the order of presenters,

-9
BOUEE » WA R W H Dt — ®9EE , FGREN G H A
ARPBAAE , MITH -

Questions 20 ~ 23
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20.

21

22,

23,

Seven bottles of chemicals are arranged on a shelf in seven spaces
numbered 1. through 7 consecutively from left to right. Each bottle
occupies one space. Three bottles are filled with sulfate, two are filled
with hydroxide, and two are filled with chloride.

No bottle of sulfate is next to another bottle of sulfate.
None of the bottle of sulfate is in space 3.

Neither bottle of chloride is in space 5.

Which of the following is an acceptable arrangement of the bottles from

left to right?

(A) Chloride, sulfate, hydroxide, sulfate, chloride, hy droxide, sulfate.
sulfate.

(B) Chloride, chloride, sulfate, hydroxide, sulfate, hydroxide,sulfate,

(C) Hydroxide, chloride, sulfate, chloride, sulfate, hydroxide,sulfate.

(D) Sulfate, chloride, hydroxide, chloride, hydroxide,sulfate,sulfate.

(E) Sulfate, chloride, hydroxide, chloride, sulfate, hydroxide, sulfate.

If the two bottles of chloride are next to each other and the two bottles
of hydroxide are next to each other, which-of the following is,

a complete and accurate list of the chemicals that could possibly

occupy space 27

(A) Chloride (B) Hydroxide - (C) Chloride,hydroxide

(D) Chloride, sulfate (E) Hydroxide, sulfate

If the bottles of hydroxide are in spaces 2 and 3, which of the
following could be true?
I. A bottle of chloride is in space 7.
II. A bottle of sulfate is in space 1.
ITI. A bottle of sulfate is in space 6.
(A) I only (B) II only (C) I and III only
(D) II and III only (E) 1, II, and III.

Which of the following CANNOT be true?

(A) There are bottles of chloride in spaces 1 and 7.

(B) There are bottles of sulfate in spaces 1 and 7.

(C) There are bottles of hydroxide in spaces 1 and 7.

(D) There is a bottle of sulfate in space 1 and a bottle of chloride
13



in space 7.
(E) There is a bottle of hydrexide in space 1 and a bottle of
chloride in space 7.

20.(B) 21.0) 2.(B) 23
(ﬁﬁ]m7@ﬁ%ﬁﬁxﬂmm$¥ﬂ.3&ﬁnn,$5%ﬂE
(2) S R 5 S M =>E xS
@)S RHE3I>S#3
WCARHFES>C#5
BH@) » DME 3EHETF TRCRH, FE5 MEFUSSRE

(€) (s)
= ) =)
3 5

WM ERATEZHE?>BHBEE, EEREGHZEER
E%,ﬂmw,c¢5zﬁ#,ﬁfﬁ7w.ﬂm®,&%szﬁ#
VEETO) , MT OO R RS,

218 MBI 1 B AR, BLC B C A, MHH, CC, EREH R
, CRUBBAESTL , S RS NEASHE -
BEANAFACCHREHE =18 S /EEa

I23456 123456
Eefetm , #EXE, AV RIS, Bk - BEkc

2.HHFE 2, 3 $T%%7f—5—6_7’ HEHZHEADM, ¢ RTHS5 , i
#(B)

BMELRATERE?
WC=1,7$%§%¥g%ﬁémﬁ#Z%%-
Bs =1, 73%%%%%%3_, ﬁ‘lf’:‘f%ﬁ‘z%%2~°

@h=1’7©%;3;;;-.ﬁﬁc%%%sﬁﬁ.mc%zﬁﬁ
305 BHEMFWRICE S , HERRK S FR s 4852 R -
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Questions 24 ~ 27

Five people have their offices on five different floors of a six-floor
building, the floors of which are numbered one through six, from
bottom to top.
Each of the five people have exactly one office.
Johanna's office is on a floor lower than fourth floor.
Larry's office is the same number of floors from Johnanna's is from Karl's
office,
Nancy's office is on a floor somewhere between Michaela's fllor and Johanna's
Johanna's floor.

Karl's floor is immediately above or immediately below Nancy's

24. Which of the following is a possiblearrangement of the five offices
from lowest to highest floor?
(A) Johanna's, Karl's, Nancy's Larry's, Michaela's. :“
(B) Johanna's,Larry's, Karl's,'Naney‘s'Michaela's.; 3
(C) Larry's,Johanna's, Karl's, Nancy's Michaela's. |-

(D) Larry's,Karl's, Johanna's, Michaela's.

(E) Larry's,Karl's, Johanna's, Michaela's, Nancy' s&t L}‘l_ ===

25, If Nancy's office is on the fifth floor, none of the five people has an
office on the
(A) first floor (B) second floor (C) third floor
(D) fourth floor (E) sixth floor

26. If Michaela's office is on the fifth floor, none of the five people has
an office on the
(A) first floor (B) second floor (C) third floor
(D) fourth floor (E) sixth floor
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